Econ 328

Whitman College

Exam 2

April 15, 2004

Write all answers in your blue book.  Show all of your work.  The exam ends at 2:20.

1.  Consider the following game.  

	
	
	
	Player 2
	

	
	
	L
	M
	R

	
	U
	2, 4
	4, 3
	1, 3

	Player 1
	I
	4, 2
	3, 3
	2, 5

	
	D
	2, 5
	2, 1
	3, 0


(a)  (5pts)  Find all of the Nash equilibria that exist in pure strategies for this game. 

(b)  (10pts)  Find the Nash equilibrium in mixed strategies for this game, if such an equilibrium exists.  

(c)  (10pts)  Graph the best response functions for each player.  Be sure to label which best response function belongs to which player.  On your graph, indicate all of the pure and mixed strategy Nash equilibria.

(d)  (5pts)  What are the payoffs in each of the Nash equilibria?

2.  (15pts)  Provide a specific example of a game that has no mixed strategy Nash equilibrium, but does have a pure strategy Nash equilibrium.  Use the normal form to represent your game.  Give an intuitive explanation of why your game has no mixed strategy Nash equilibrium.  

3.  Consider a contractual setting in which the technology of the relationship is given by the following partnership game.  Suppose that the players contract in a setting of court-imposed breach remedies.  The players can write a formal contract specifying the strategy profile they each intend to play.  The court observes their behavior in the underlying game and, if one of them cheats, imposes a breach transfer on the cheater.  If both cheat, the court does not impose a breach transfer.  The players wish to support the investment outcome (I,I).  

	
	
	Player 2
	

	
	
	I
	N

	Player 1
	I
	6, 4
	0, 9

	
	N
	7, 1
	2, 3


(a)  (5pts)  Write the matrix representing the induced game under the assumption that the court imposes expectations damages.  Can a contract specifying (I,I) be enforced?  Explain.

(b)  (5pts)  Write the matrix representing the induced game under the assumption that the court imposes restitution damages.  Can a contract specifying (I,I) be enforced?  Explain.

(c)  (5pts)  Write the matrix representing the induced game under the assumption that the court imposes reliance damages.  Can a contract specifying (I,I) be enforced?  Explain.

(d)  (5pts)  In order to impose expectations damages, what information would the court require above and beyond what it would need to impose restitution damages?

4.  Consider the following extensive-form game.  















(a)  (10pts) Write the normal form matrix for the game.

(b)  (5pts)  Use your normal form matrix to compute the pure strategy Nash equilibria of the game.  List these Nash equilibrium strategy profiles.

(c)  (15pts) Which of the pure strategy Nash equilibria are not subgame perfect?  Show and explain your work.

5.  The subgame perfect equilibrium (SPE) concept  is a refinement of the Nash equilibrium (NE) concept.  That is, the SPE takes the set of NE and pares it down to a subset.  

(5pts)  True or false?  If a bad Nash equilibrium exists, the SPE paring process will remove the bad Nash.  Thoroughly explain your answer, including providing a definition of a bad Nash.








































D





C





7, 13





10, 16








10, 12








E





F





1





A





6, 12





2





B





8, 6





E





L





1





F





1





8, 4





2





R








PAGE  
1

